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(1)

From the followin

Seat No.: _FOQOR
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Figures to the right side indicate marks.
(2) Show necessary calculations in support of your answer.

(Management Accounting — I

ND-123

Percentages.
' Balance Sheet
P 2012-13 | 2013-14 | 2014-15 }
: % ! | -
Fixed Assets :
Land & Building 5,00,000 | 6,00,000 | 6,50,000
Plant & Machinery 3,00,000 | 3,30.000. | 3,60,000
Furniture 2.00,000 |~ 2.00,000 I 2.,60,000
Current Assets : _
Cash & Bank 80,000 48,000 | 1,12,000
Stock 64,000 [ 51,200 76.800
Bills Receivable 1,00,000 | 1,00,000 | 1,00,000
Debtors | .1,80,000| 2,16,000| 1,44,000
Investments 2.10,000 | 2,94,000 1,26,000
Prepaid Expenses . 10,000 | 16,000 8,000
16,44,000 | 18,55,200 | 18,36,800
Liabilities : Share Capital
Equity Share Capital 6,00,000 | 8,00,000 | 8,00,000
Pref. Share Capital 3,00,000 | 3,00,000 | 3,60,000
Rese d Surplus :
Profit & Loss Account 1,00,000 90,000 80,000
Long-term Capital :
Debentures 1.50,000 | 1,50,000| 2,25,000
urpent Liabilities : |
- : 2.10,000 | 2,52,000 1,68.000
Creditors s2 Vs
: 50,000 75,000 50,000
Bills payable ,
o 1,50,000 79,000 61,400
Provision for Tax »OU,
Other current debts 84.000 | 1,09,200 92,400
16,44,000 | 18,55,200 | 18,36,800
OR
9
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g information of a BATA Co., prepare statements showing Trend
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OR

Explain the difference hemeen Financial Accountancy and Management

Accountancy.

(B)  Write in brief (any two) :

(A) What is Management Accountancy ? Discuss its scope.

(1) Explain any two methods of analyzing Financial Statements.
(2)  Write two characteristics of Management Accountancy.
(3)  Write two Limitations of Management Accountancy.

() Definition of Management Accountancy.

OR

Purposes of preparing Financial Statements.

19

The followi Ing 1s the summanzed Balance Sheet of Ashik Co. Ltd. ason 31-3-2015.

Additional Informations :

Liabilities 3 Assets | < j

Equity Share Capital 9.00,000 | Fixed AsSets " 11.70.000 |

10% Pref. Share Capital | 3.00.000 | Debtors 2.50.000 |

12% Debentures 1.00.000 | Stock of Raw matenals 40,000 ‘
Retained eamnings 1,50.000 | Stoek of finished goods 60,000

Creditors 1.00,000 | Bills Receivable | 12,000 |
Bills payable 30.000 l Advance to Staff | 10.000
Bank overdraft 6.000 | Cash at Bank i 25,000

Unpaid expenses 14,000 | Cash on hand . 3.000|

| Underwriting Commission | 30.000 |

16,00.000 16,00,000 |

(1) Rate of Gross profit =30%.
(2) Net Profit (Before interest and 40% taxes) < 3.52.000

(3) Total Credit Sales (80% of the total sales) < 14.40.000
(4) Opening Stock (Finished and raw materials) < 3.80.000

(5) " Total working days are — 360

Caleulate the following Ratios :

(1) Net Profit Ratio
(2).~Liquid Ratio

(3) Stock Tumover Ratio
(4) Debtors Ratio

(5) Proprietary Ratio

OR

Return on equity share capital Ratio
Long term funds and fixed assets Ratio.

10
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0 e .
(B} Seven limitations of Ratio Analvsis. 7
) :t!nck turnover is 4 times, Sales ¥ 5.00.000, Gross profit is 23% on cost. Closing

Ock is ¥ 40,000 more than Opening Stock. Find out the Closing Stock. ‘

g lgrﬂm ratio of a firm is 3 : I, while its current assets including stock are
b 00,000. At that time its liquid ratio is 2 : 1. while current liabilities except
ank overdraft are of 2 2.00.000. n

Find the value of Stock and Bank overdraft.

(C)

% ggr::::;“;;'gg are the summanzed Balance Sheet of Manisha Lid. as on 317 March,
March, 2015. 14

i 3314 33 | 3Rl 3L

| ¢ | v | ° & =
Equity Shares of Z 10 each_+ 6,00.000 | 9.00.000 = Goodwill 130000  75.000 |
Pref. Share Capital T 10 | Lmld*Buildings.Efé.ﬁﬂ.fm”'. 7.40.000 !
each, ¥ 8 paid . 240000 | - | Machinen@, 450000 | 7.00.000 |
Reserves 3.00.000 | 1.60.000 | Investafithts «f 1120000 -
Profit & Loss Account 1,10,000 | 2.20.000 | Stoék 1.50.000 | 2.20.000 |
Securities Premium 80.000 | 50,000 Debtors.d | | 1.60.000 = 1.30.000
8% Debentures » 4 - 1{}0000! Bills Recenvgble  30.000 ¢ 35,000 l
Creditors 1.60.000 | 220,000 | Cash & Bank |  40.000 | 1.00.000 |
Bills payable 50,000 20,000 | | 3 '-,
Tax-provisions __- 1,004000 { 140,000 i | |
Proposed Dividend | |  60.000., 901000 | . |
17.00,000 | 20,00.000 _17.00,000 _ 20.00.000

Additional Informations.:

(1) After fulfillment of Company Law Provisions, Preference Shares are redeemed at
10% redemption. Premium ¥ 3.00.000 is transferred from General Reserve to

Capital redemption fund.

(2) The company has issued bonus shares at 2 : | to present equity shareholders from
capital redemption fund.

(3) . Investment are sold at a profit of 25% on selling price.

‘New debentures were issued at 5% discount dunng the vear.

(4)

(5) Depreciation provided during the year for Land and Building i1s ¥ 1.00,000 and
““weMachinery ¥ 1,20,000. |

(6) ¥ 1.10,000 have been paid as tax for the last year and the amount of proposed

dividend of the last year has also been paid.
From shove mtalims Iufuastions, prepece Cash Flow Statement as per

Accounting Standard NO'.JB;-_}
OR

11 P.T.0O.




(A) Calculate Cash Flow from Operating activities from the following details :

S 31-3-14 31-3-15
< 4
Profit & Loss Account 1,00,000 70,000
General Reserve 30,000 50,000
15% Debentures 1,00.000 | 1,50.000
Creditors 60.000 50,000
Debtors 1,20,000 90,000 |
Goodwill 30.000 20.000
Stock 70,000 85.000
Debenture discount ~ 3.000 |

During the year, 15% Debentures were issued at 10% discount.
(B) State the Four usefulness of a Cash Flow Statenient. 4

(C) Whether the following statement are trué or false. 3
(1) Cash flow increases due to increase in current assets.
(2) Cash flow decreases due to decrease in current liabilities.
(3) Purchased goods of ¥ 50,000 on Credit. No effect on cash tlow.

‘ From the following information of Karishma Co. Ltd.. prepare cash budget for the three
months from March to/May 2015. : 14

(1) On 1-3-15 Cash & Bank Balance X 32,500.

(2) | Month Closing Stock | Total Sales | Total Overhead |

) ) expenses (%)

Janvary 6.500 52,000 7.200

| February 9,750 65,000 9.000
March 16,250 78,000 12.000

April 19,500 1,04,000 10,800

May 17,875 91,000 12,000

[ June 16,250 97,500 9,000

(3) Purchases are made for cash. Assume 40% of total sales as cash s?h?:s. o

(4) 50% of credit sales collected in the month after sales and remaining 50% in the
second month after sales.

(5) Goods are sold at profit of 25% on sales price.

ND-123 12



(6) -
A new machine s to be brought ¥ 35,000 in April-2015, the payment of which is

Made 80% against delivery and the remaining amount in the subsequent month.

. .
(7) Income-tax paid for ¥ 7,000 in April - 2015.
(8 .
) :l:;t'al n_verh;?.ad_ expenses included monthly fixed overhead expenses of Z 3,000
Ich is paid in the same month. Variable overhead expenses are paid in the
Subsequent month.
OR
(A) I:; efata regarding selling expenses of Anisa Company for the year 2014 are as
: ' 7
: Ahmedabad | Siddhapur | Daman { Total
Particulars
3 e 3 (4
Salesman’s Salary 80,000 60,000 50,000 —l 1.90,000
Rent and tax | 12,000 14,000 4 13,000 39,000
Warehouse expenses 5,000 6,000 7,000 18,000
Commission on sale 8,000 10,000 12,000 30,000
Selling expenses 8,000 6,000 5,000 19.000
Advertisement expenses 3,000 4,000 2,000 9,000
1,16,000 1,00,000 89,000 | 3,05,000

During the year 2015 budget period, the following changes are to be considered :

(1) Salesman’s total salary will inerease by ¥ 50,000, which would be increased
in all three cities in proportion of 2 : 2 : | respectively.

(2) Rent will increase by 15%.
(3) In Ahmedabad and Siddhapur advertisement expenses will increase by 10%.

(4) Sales commission is to be increased by 20%. Prepare the selling expenses
budget for the year 2015.

(B) _How will you prepare following Budgets ? (any two) 4
(1)  Production Budget

(2) Sales Budget
(3)° Overhead Expenses Budget

(C) Discuss any six limitations of Budgetary control.

13 P.1.0.



For each of the following sub-questions more than one answers are given, out of which

only one answer is correct. Select the correct answer. (any seven) 14

(1) In Management Accountancy. during assets valuation which of the following is
considered on their

(2)

(4)

(3)

(a)
(<)

To
(a)
(c)

While calculating Liquid Ratio. which assets

Assets ?
Stock erdraft
Debtors ivable

(a)
(C)

Basic pnice (b) Price after depreciation ‘
Replacement value (d) Policy is not decided & '

whom, Management Accuuntancy_is most useful ? ‘
Investors (b) Directors
Shareholders (d) Creditors

ded from Current

From the following, which rat ot tability Ratio ?

(a) Propnetary R‘v (b) Operating Ratio

(¢) Eamng per sha\ (d) Expenses Ratio

Provision ion was ¥ 40.000 on 31-3-2014 and ¥ 60.000 on 31-3-2015.

(a)
(b)
()
(d)

was paid during the year. Then how much provision for
made duning the year ?

(b) ¥ 25.000
(d) % 45,000

oh of the following statements is correct ?

Cash flow increase due to increase in Current Assets.

Cash flow decreases due to increase in Current Assets.
Cash flow decreases due to decrease in Current Assets.
Cash flow increases due to decrease in Current Liabilities.

14



(7)

(8)

(9)

Which of the followin is not a purpose of budgeting ?

(a) Budgeting for;:eé advance planning.

(b) 1t communicates management’s policies to subordinates.
(€) It requires approval for routine spending.

(d) It establishes prices for internal services.

Which of the following statements is true in the context of/limitations of Cash
Budget ?

(a) It is not possible to decide as to when cash has to be raised with the help of
cash budget.

(b) Itis of no use in planning capital budgetplan.
(c) Itis not difficult to estimate cash receipt and payments.

(d) Asitis expensive, small firms cannot adopt it

A company is preparing a production budget for the next year. The following
information is relevant :

Budgeted sales 15000 units, Opening Stock 1000 units. Closing Stock 3000 units.
The production proeess is such that 15% of the units produced are rejected. What

‘s the number of units required to be produced to meet the demand.
(a) - 18000 units (b) 17000 units
(c) 20000 units (d) 15300 units




